
Formeln Nachweise D01

Ac,eff,S,D01 = m * d * (la,D01 +30 + tan(30°)*ti,D01)

Ac,eff,L,D01 = b * (la,D01 + 30)

hSy,T,D01 = h – tiii,mit/2 - ti,D01

ISy,T,D01 = hSy,T,D01 / 24 * (d*m*(-4* hSy,T,D01
2 + 6 * hSy,T,D01 * (2 * sy,S – tiii,mit)-12 * tiii,mit * sy,S + 9 * tiii,mit

2) + 12 * b* tiii,mit * (2 * sy,S – tiii,mit))

Mit: tiii,mit = h / 12 kc,90 = 1; fc,90,k = 2.5 N/mm²; fv,k = 2.0 N/mm²

Rv,z,k,D01 = MIN ( Ac,eff,L,D01 * kc,90 * fc,90,k / b   ;   Ac,eff,S,D01 * kc,90 * fc,90,k / b * Iy,S / ISy,T,D01 ;   Aw * fv,k / b ) 

Rv,z,d,D01 = Rv,z,k,D01 * kmod / γM


